
Math 142 
Test #2 Review Problems 

Spring 2023

Name: ----------

Multiple Choice: Choose the answer that best fits as the solution to the question. 

For questions 1 and 2, us the following information: 

U = {1,2,3,4,5,6,7,8,9,1 O}, A = {3,4,5,6,8}, B = {2,5,6,8} C = {5,6,7,8} D = {7,8,9,1 O}, 
, 

l. (A(")B�Cr'ID)' � [ f, J � t (, l, 3, 4., 5, ,, 7� 'i, 1aJ 

A) {8}
B)U

�!1:2,3,4, 5, 6, 7, 9, 10} 
�None of these 

2. n@-c) = i_ L, 11/,i i - t_t/,f{j)f; 3 � L 2f 
A) {2, 6}
B) {2}
C) 2

(rn 1
'fj None of these

3. If a set has 1 element, how many subsets exist for the given set? ,,_ in. 
" OF t: LEN .:I" I ..J 

�� 49uisers :: 2. tl .,-

� 
D) 4 : 2

1 � L

E) None of these








